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EYAMLE @ BEAM R(TH A4 HINGE

BUILD A CinTE ELEMENT MOPEL . ps& 2 FE5
FinD VNKNoWN DISPLACEHENTS PEFLELTION | RERCTIENS,

INTERNAL FORCES AND (HECK THE EGUILIBRIVA.

E=0.10° MPa
Ly = 1000 mm
[, = S@o mm

Jy, =114 10 mm"
Jyp = 1.621-10° pmdf




NODAL PARAMETERS
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LOADS AND REACTIONS

H,, = 5500N -100mm = 0.55-106 Nmm
Ml. = {QG00CN -100 wim = 4-105A/mm
F = 2600N
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STIFFNESS MATELICES

EleMenT ] 1_"@%

N ING
>‘l

s L
[K],= 253y, (651, -6 3L
4y Z P y

~6-34 6 -3
13, L -3U 24

k]'=

[

47

\)

ad ﬂm]
///axs
[@1 Vo1

a1 3%

2
e

"Q)Lol(} 0101 0\0
.__OLO Q 0100




2F

GlerAL ST FFNES

K1 = Udf + [k]j =

MATEIX
I 0 (00|
' cl0olo
VvV
010\0
\LO{O % N
(oo 0 NNNNRY
ATINTINNNWN




POVNDADY coNDITIONS !
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UNKNOWN NODAL PARAMETERS
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EQUILIBRIUM CHECK

ZF_;': O
O.8kN— 2.8kN + 2kN =0
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0.25 kNm+ 0.55kNm = 4 kN - 28KN-{m + 2KkN- .5m = O
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ELEMENT  SOLUTION
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BENDING MoMENT

My(5) = Wy EJy, = ETy, (Nt gyt Mg ) =
= Edys- ((Lz %) %+ (5350 £ )

Mya(0)= ~0.25.005Kmm
Myq(ly) = 0.55 106 Nmm = My

SHEAR Force

Tzq (%) = W/I Ejj,‘ = ._.EJW I\(?)mc}5 Nq 7/4) _

= 'I‘Ejfj/l ( L430{3 L"'CV‘{) = — 800N
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RENDING MOMENT
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DEFORMATION AND INTERNAL FORCES
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